i A
Zip>2 WAGNER

AL X

{

57 27/ 23132415 \23

[E10000C

AR « i - MRS T ERKEET2HR/HVET, 2024.02



ZIp>2 wAENER

POS i B = TEAM ik
1

2 T0180.00A | <AL hLFal —H— 1 81,400

3 E3105.92 |[R 7 Hff~—=A 1 13,100

4 E3106.92 |74/ vh 1 4,700

5 M208.04 |TTOF=>7 v 1 1,200[R1/2M X ¢ 17.5
6 M247.00 |[Fvus 1 1,100|R1/2M X R1/4F
7 9998039 [T RT4vT ALY 2 2,700|/G1/4MxR1/4M

8 S591.00C  [YaAf v hh—A 1 8,500|G1/4F X 420

9 9992103 |Z/ARZ=A> 2 2,900

10 2104202 |HK—RAT74v T4 T 2 800|G1/4M X R1/4M
11 P904.00 | E /&t 3 13,700

12 M286.00 [AARZL=F> 3 1,500|R1/8F X ¢ 4

13 7547.00 |avhm—LoR L 1 2,400

14 7548.00 |7~ 1 1,100

15 M335.00 |=/ART 4T (7 4 1,700[R1/8M X ¢ 4

16 9904307 1

17 M109.00 |UZ—1 31T 1 5,300|R1/4

18 9992265  |T/LAR 1 2,400

19 M205.04 |=v 7L 1 640|R1/4

20 9900338  [/NF USRIV 4 210[M6 X 30

21 9920103  [*EUvi p— 8 190|M6

22 T139.01 |=7—~=k—/LF 1 8,500

23 M404.00  |/SoPa—ARLk 3 1,200

24 M250.00 |[Fvv s 1 640|R3/8M X R1/4F
25 M239.00 [Ty 1 750|R1/4M X R1/4F
26 M101.00 |=7— L7 1 4,700|R1/4

27 1.212.06 |0V 3 450

28 S455.07A |=7—Fa2—7 1 440l ¢ 4 X ¢ 2.5 X 230
29 $455.07 |=T7—Fa2—7 3 440l ¢ 4 X ¢ 2.5 X 130
30 M354.00 |=/ART 4T 1 2,200[R1/4 X ¢ 4

31 M204.04 o> 7V k 1 1,100|G1/4M X R1/4F
32 P123.00 |=7—L ¥zl —F— 3 13,500

33 9910204  |[pBHA DI ST VB 4 260

34 9920104 [T p— 6 190[M5

35 9900329  [/NA ARV R 6 210[M5 X 30

36 S455.07B  |=7—F 2—7 1 4401 ¢ 8 X ¢ 6 X 260
37 2104202  |HR—AT 4T 1 800|G1/4M X R1/4M

Ak - i - MR T ERKERT2ENHYET,

2

LE10000C

2024.02



i A
Zip>2 WAGNER

FRRD

[IE10001B

AR « i - MRS T ERKEET2HR/HVET, 2024.02



- A
ZIp>2 WAGNER
POS T nn4h B TEAM k=3
1 F184.01 ~=R—/LR 1 16,400\ A
2 F185.01C |[v=&—/LK 1 21,000|nt:H
3 F834.07R  |¥ AT 77 L% 2 3,900
4 F978.01 HAT 7T IBH 73— 2 11,900
5 G921.07B  |FAT 7T L 2 10,800
7 9900336 IS TR LR 4 230[M6 X 40
8 9900338 IS TR VR 4 210|M6 X 30
9 9910204 p2H I LD AN T 16 260
10 9920103 STy — 24 190(M6
11 K1012.62  |@&ve Rl 1 450
12 K1040.62  |[ARALIAR /LK 4 450|M6 X 80
14 K1044.62  |[ARMIARLE 12 450|M6 X 45
15 9910204 DD I DE R TF v 8 260
17 T6103.00 |=7—F—&— 1 97,400
17-1 B0146.04 |7y =znuvR (2) 1,700
17-2 B0147.71  |\¥AT 772530} (2) 3,700
17-3 B0150.03 [ ¥~k (1) 3,100
17-4 F194.91 R— (1) 7,500
17-5 F829.07 LD (2) 1,500
17-6 F830.07 T N— (1) 4,600
17-7 T6103.00A |F—H— 7 (1) 25,800
17-8 G925.06  |HAZ b - I LT (1) 750
17-9 G7020.06 |[HAZ Yk« FA— (1) 930
17-10 H618.07 P AL — (1) 540
17-11 K1038.62 |+ fHEmaal (4) 450/M5 X 20
17-12 K1039.62 | -“Foiftdmaal (6) 450[M5 X 10
17-13 1.470.06 HAF IR« N (2) 540
17-14 .471.06 T ATk« K (2) 540
17-15 P4003.00 |Gl L7y (1) 36,900
17-16 17-7 & FEND
18 T6105.00 |fpEvh 4 4,700

Ak - i - MR T ERKERT2ENHYET,

4

LE10001D

2024.02



i A
Zip>2 WAGNER

RAMLFaL—%— (PN T0180.00 A )

[E10002B

5
Ak - i - MR T ERKERT2ENHYET, 2024.02



- A
ZIp>2 WAGNER
POS b EA o TEAT T
1 B0180.01 |[HRT 41—« {2k 1 43,200
2 F991.07 |myZF vk 1 3,800
3 F992.07 |7A4NH—Hhv S 1 3,700
4 G640.05B  |/¥v¥ 1 4,400
5 T500.00A |7 4/L5— 1 4,900[100 A =
T500.00 |7 4/L%— 4,900[60 A =
T500.00B |[74/L%— 4,900[150 A =
6 B0172.03 |R—/LHAR 1 5,900
7 H285.03 [AFV 1 1,200
8 L118.06A |0V 1 540
9 9900329 |/ TUFHRILE 6 210[M5 X 30
10 9920104 [EUvI¥— 6 190|M5
11 B563.01 |RT4— + =T — 1 29,000
12 G725.05 |ZATT7TL « _ALb 1 3,400
13 G726.06 |ZATT7Th « =T — 1 3,100
14 A590.03 |=T7—F 1A 1 1,500
15 A588.03 | ALhT AR 1 3,000
16 9910204  |DDHIIEDT ST B 1 260
17 T6007.00A [~ —htEvh 1 22,700
18 K811.03 |R—/ 1 540( ¢ 6.35
19 .148.06 |0 VU2 1 540
20 B391.03 |[/SL 7 AT A 1 4,500

Ak - i - MR T ERKERT2ENHYET,

6

LE10002B

2024.02



Zip52

A
WAGNER

B oLavtyk (Zip52, Zip52ECO #3&)

[F10002C

POS T B B TEAM ik

1 T406.00 | AAR—Atvhk 1 30,600[Pos.2 ~ 8 & e

2 2240002 |[FR—ANUR 25 2) 770(17 ~ 25

3 S402.06A | A7R—A (1) 9,600{ ¢ 16 X 900

4 $637.03  |[WAAT (1) 6,400

5 F141.07 |72 —RF 4 (1) 3,100

6 H401.07 |7 42 —HF—k (1) 2,000

7 T453.03 | AT 1)L 42— (1) 1,600

8 H206.03 |74 NH—ATV 2 (1) 1,200

9 S401.00 |[V¥— F2—7 1 3,400| ¢ 8 X ¢ 6 X 1600

Ak - i - MR T ERKERT2ENHYET,

7

LEF10002C

2024.02



; A
ZIp>2 WAGNER

ARty (Zip52, Zip52ECO 18 )(PN T760.00S)

[E00046B
POS e fnh B TEAM ik

1 E3107.92 | A& KA 1 12,400

2 E3107.92A |[RZL R 1 12,400

3 H1156.62  |[/3— 1 5,900

4 9900309 N ARV 2 230[M8 X 40

5 H009.62  |Ho 77 1 2,500

6 9900389 INA AR VI 4 230|M6 X 45

7 9920103 T o p— 5 190|M6

8 3155401 WU v 4 270

9 9910204 PH I DA R T b 5 260

10 R204.07 TURF S 4 260

11 R244.07 AH R —h 4 520

LE00046B

8
AR « i - MRS T ERKEET2HR/HVET, 2024.02



